A Million Dollars Rubric
section
points | points
N.B. Accept correct decimal answers but subtract one point overall.
1. Gives correct answer: 285714 1
Shows correct work such as: 1000000 + 3.5 1
2
2. Gives correct answer: 19 — 20 years 1
Shows correct work such as: 30 x 35 x 50 = 52500 1
1000000 + 52500 = 19.0476 1
3
3. Gives correct answer: 2205 pounds 2
Shows correct work such as: 1000000 + 1000 x 2.205 1 3
4. Gives correct answer: 119 — 120 yards 1
Shows correct work such as: 0.0043 x 1000000 + 36 =119.44 1 2
Total Points 10
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